
:yfg /sd :yfg /sd :yfg /sd

1 k|eft df lj lemd?s 3 150000.00 k|yd 150000.00 k|yd 75000 375000.00

2 lbk]Gb| k|f lj jf+u] lemd?s 4 50000.00 50000.00

3 sd]/kfgL cf lj lemd?s 2 50000.00 50000.00

4 ;Ltf cf lj lemd?s 7 50000.00 t[lto 15000 65000.00

5 g] /f cf lj lemd?s 6 50000.00 50000.00

6 ;jf]{bo df lj u*]/kfgL lemd?s 2 50000.00 50000.00

7 hgtf df lj l^d"/rf}/ lemd?s 8 50000.00 t[lto 22500 72500.00

8 ;Ltf cf lj lemd?s 7 50000.00 50000.00

9 hg;]jf k|f lj lj*\*f*F lemd?s 1 2000.00 2000.00

10 e"jg]Zj/L k|f lj lemd?s 6 2000.00 2000.00

11 hgrfxgf k|f lj lemd?s 1 2000.00 l$lto 22500 24500.00

12 afnHof]tL k|f lj d}bfg lemd?s 3 2000.00 2000.00

13 l;$]Zj/L k|f lj uf]ugkfgL lemd?s 6 2000.00 2000.00

14 nIdL df lj jf+u] lemd?s 4 l$lto 75000 75000.00

15 lr/fo" df lj lemd?s 6 t[lto 52500 52500.00

16 aneb| df lj lemd?s 2 l$lto 37500 37500.00

17 g] /f cf lj lx/fkf]v/L lemd?s 5 k|yd 37500 37500.00

18 l;$]Zj/L k|f lj r"+wf/f lemd?s 4 800 600 1400.00

510000.00 277500.00 135000 75000 800 600 998900.00
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